	Законы умножения



	   Переместительный  закон


	     m · n = n · m 


	   Распределительный  закон 


	     a · (b + c) = a · b + a · c

     a · (b - c)  = a · b – a · c


	   Сочетательный  закон 


	     a · (b · c) = (a · b) · c 




	Законы умножения



	   Переместительный  закон


	     m · n = n · m 


	   Распределительный  закон 


	     a · (b + c) = a · b + a · c

     a · (b - c)  = a · b – a · c


	   Сочетательный  закон 


	     a · (b · c) = (a · b) · c 




	Законы умножения



	   Переместительный  закон


	     m · n = n · m 


	   Распределительный  закон 


	     a · (b + c) = a · b + a · c

     a · (b - c)  = a · b – a · c


	   Сочетательный  закон 


	     a · (b · c) = (a · b) · c 




	Законы умножения



	   Переместительный  закон


	     m · n = n · m 


	   Распределительный  закон 


	     a · (b + c) = a · b + a · c

     a · (b - c)  = a · b – a · c


	   Сочетательный  закон 


	     a · (b · c) = (a · b) · c 




